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% What go you understand by the objective of sharehqldem
idered superior to

W Y .
ealth maximization? Why is it cons!

Obiane: . .
Jective of profit maximization? .
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qaRear & E]T-r% Nﬁl‘dﬁtﬁm o G@W ¥ o ﬂ (i) net present value method, and
A 7 A iR & IRE A T A W (ii) profitability index method.
ik : H| In case of conflict which criteria should be followed
Or (sraan) | and why? |
(a) ijplain the concépt of systematic and unsystematic,:? T & yee & O RER FX 3 R CRCET
risk. | | @ & oRdeer A @ R 1,200,000 B0 F T
%Ww@a%#waﬁw@: TR 2 aragaRaT & SR Ao B & R 18,00,000
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(b) The cost of 5 new mobile phone is Rs. 10.000. If h Bo oY weRd | ae @ U™ ?Iﬂﬁ ® T ?j;::j
interest rate i5.5%, how muych wlsi 10 .w s | ST B Y I T WW A U 400 o
ouid you have { TRy 7 oir TRa) qTBﬁs,SO,OOO'GOMHEﬂ_ N

e this sum in five years?
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(b) The ma m.?
Propos :lagemem of a COmpany has two altern®” )
capital outlay of ’ i | Clud, p . which has been i P -
Rs I8 of Rs 12, ,000 and project B requ™ e as a machine w . 10 salvage
§ 18,00,0 ' s [ “Cars, .. p ars with B
for fic 00. Both are estimated to generate cash ﬂ"wd . Its remaining useful life is 8 ye? 20,000. The
i P | : 00,
Proj ‘veByanS. Project A Rs. 4 00,000 per Yo' 3“5 e " Its current market value is RS 2 pase 8 neV
ect B Rs, " qgl ¥ %0 rchas
10% Deten;iso,ooo Per year. The cost of P " :1 Pany is considering a proposal 0 P* chine. The
. i machine
selected ne Whlch of thc two projects sho del of machine to replaCG the eXIStlﬂg m
on the pa; Ve
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Existing Machine =~ New Machint

Cost.of machine

Rs. 3,30,000  Rs. 10,00,000

Estimated life

Salvage value ’ y:ars 8 'year‘s
Annual o . -
Semné p:::ut | 30000 units 75000 unit |
per unit Rs.15 Rs.15

Annua] Operating hours 3000 . 0
Material cogt per unit Rs. 4 .
:dl:ro: Ccost per h;>ur .Rs .40 ::7‘:)

t cash cost per annum Rs 50000 Rs.65000

an
pany follows the Straight-line method

depreclatlon
not mak The Corporate tax rate ; is 30%. ABC Lid d"“s
€ any in
vestment if it yields less than 12%-. Ad

ABC L,
whet
ether the existing machine should be repl?

or
not. Ignore Capital gajp ta
X.
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A & ar 3,30,000 10,00,000
SgTRE g 11 ¢ L i
Freamer = K5 40,000
Tt S 30000 IR 75000 IFE
forg g iy e 1590 15 o €
e ik e 3000 3000
ngﬁz&ﬁz 4o 4To-
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‘U Ltd. ‘which are:

and
s of their capital

There are two compa.mes ‘L Ltd’
* Identical in all respects except in term

Sttucture, Following information is available:
L L.

100,000
500,000 ~
S 16%

20%
and illustrate U508 MM
Ltd

A vLd
EBIT (Rs) 500,000
12% debentures (Rs.)
Equity capitalization rate
Culate the values of two firms
- Pproach how an investor holding 10%. $hares oﬁl;
il pe benefitted by switching over his. ;nvestment
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)857 U Ltd. : . | | p.T.O-
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EBIT (%o) 100,000 500,000
12% RS (%o) 500,000 Sl
R Glrmer % 1 20% 16%
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Or (m)
The capital structure of XYZ Lid. is as ynder:

2 75,000
. 9% Debentures (Rs. 100) Rs. 2,

Rs. 2’25'000
0,00
value Rs. 10 per Rs. 5.0

11% Preference shares (Rs, 100)
' ~.',Bquity‘ shares (face
‘share)

Additiona] information:

d
4 s an
Debentures are redeemable a¢ par after 10 year

have 209 floatatiop cos

p?!
t. The market pric?
debenture g Rs. 10s.

10

R T ftef
() Prefetence shares are redeemable at par 2 et

m
years and hyye 30% floatation cost. The

pn Ce per Preference share is Rs.106.
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ii ity share has Rs. 4 floatation cost and market
R r share of Rs. 24. The next year expichtec: :
ice pe : . P
pfl idend is Rs. 2 per share with annu'fll gro .
oy The firm has a practice of paying all eamn
5%. The
in the form of dividendg .
(iii) Corporate income tax rate ;scapm;‘ i bk
ight e cost O |
Calculate weighted averag o
value weights (i) market .value ::Ig .
XYZ fafis &t Tl Waﬁ) TR
90% fea=ax (100 To ) .
11% aftena 9 (100 ® .
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4. (a) Explain Gordon’s dividend rhodel. What are its

(b) The earning per share of a company. is Rs. 20. TH°

+ class is 12,59, If Walter's model is used:
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shortcomings?
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f:
face Value of the share js R 100. The rate of ret™®
or the company g 25% and capitalization rate of rsh

(1) What should be ¢he Optimum payout ratio?
(ii) Wlfat should be the market price per shar® g
Optimum payoy¢ ratio? |
(i) If company has a D/P rgyj, of 25%, what would ”* |
the price per share? ’
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- Or (3m)
(a) What is a stable dividend policy? Why should it be
followed?
Tl iy A T St &7 SHT AR Al FEA
Tifew? 7
(b) A company has a total investment of Rs. 500,000 in
assets and 50000 outstanding ordinary shares. ofRle .
each. It earns a rate of 15% on its investment and has a
policy of retaining 50% of the earni'ng':s. If the
appropriate discount rate of the firm is 10%, determine
the price of its share using Gordon’s model. |
WMWgﬁﬁ%ﬂqﬁwﬁiﬁﬁs,oo,oooag%
AR 10 o AT 50,000 FHAT FRT 7 T asﬁ%aTW |
15% 2 o & oeel T & o TR e 3
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10% %a‘mﬁwmﬂmmmgﬁﬁf
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3, (@) The following information is given to you: o days
Period covered : - 30 days
Average period allowed by suppliers, + 45 days
Average credit period allowed to de§t°"s Rs. 6,00,000
Raw material consumed . 5,0.0,000
Average stock of raw material R:s ’30,000 o
Annual work in progress inVentory ", 4
Average work in progress foventory. - PTO.
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Annual finished goods inventory
Average finished gobds stock held
Total cost of sales

Compute:

(i) Net operating cycle period

Rs. 8,00,000
Rs. 40,000
Rs. 8,40,000

(i) The number of operating cycles in a year

(i) The amount of working capital.
3rafer

Wmff a0 Wi g sty
F AT P g
F AT B S wie

50,000 ®o

360 fad
30 &
45 &

6,00,000 ©° -

5,00,000 ¥°
30,000 ¥°
8,00,000 ¥°
40,000 %°
8,40,000 ¥
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Or (=)
(a) The followiﬁg are the details regarding the operation

of a firm during a period of 12 months:

Sales Rs 12 lakhs
Selling price per unit Rs.10
Variable cost per unit Rs. 7
Total cost per unit Rs. 9

one month

Credit period allowed to customers

The firm is considering a proposal for a more liberal

extension of credit which will res _
m one month to two

ult in increasing the

average collection period fro
months. The relaxation is expected t0 increase the sales
by 25% from its existing level. Advise the firfn
regarding adoption of new credit policy assuming firm s
t is 25%.

F gt

required rate of return on investmen
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(b) leferentlate between permanent workmg capltal and
~ temporary working capital.
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